
AP Calculus BC 
Lesson 12.3  The Integral Test 
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 (c) Determine whether 
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 (d) Use the results of problems (a) and (b) to show that 12 2 21 1
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 (e) Use the result of problem (d) to approximate 
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 (g) Draw a graph of the first fifty partial sums of 
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2. (a) Graph the first fifty terms of the sequence of partial sums of the series 
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Do you think this series converges or diverges?  Explain your reasoning. 
 
 
 
 
 
 (b) Draw the graphs of y = ln(x) and y = ln(x) + 1 on the same axes.  Do you think 
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 (c) Explain why 
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3. Determine under what conditions the series 
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4. Determine whether each series converges or diverges. 
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